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Practice 5-1 Relating Graphs to Events
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The graph shows the speed a student traveled on the way to school. Trip to School
1. What do the flat parts of the graph represent?

2. Circle the sections of the graph that show the speed decreasing.

Speed

Time

=

The graph shows the relationship between time and distance from home. . N
Your Bicycle Ride

3. What do the flat parts of the graph represent?

4. What do the sections from 3 pM. to
4 pw. and from 5 PM. to 6 RM. represent?

from Home

Distance

5. What does the section from 12 M. to 1 BM. represent?

1
6 pm

ro
o
=)
Q]
- 4
H
B
o
|

Sketch a graph to describe the following. Explain the activity in each
section of the graph.

6. your elevation above sea level as you hike in the mountains

7. your speed as you travel from home to school

8. the height of an airplane above the ground flying from Dallas,
Texas to Atlanta, Georgia

9. the speed of a person driving to the store and having to stop
at two stoplights

The graph shows the relationship between time and speed for Speed vs. Time
an airplane.

10. Circle the sections of the graph that show the speed increasing.

Speed

11. Circle the section of the graph that shows the plane not moving.

12. Circle the section of the graph that shows the plane moving at a 0 Time
constant speed.

E Lesson 5-1 Practice Algebra 1 Chapter 5
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Name Class Date

Practice 5"2 Relations and Functions

Find the domain and range of each relation.

1. {(—3, -7, (=1, =3),(0, —1},(2,3), {4, 7}} 2. (=5, —4),(—4, 2), (0, 2),(1,3), (2, 4)]
Determine whether each of the following relations is a function.
3. {(—4, -3), (=2, -2), (0, -1), (1, ~%)} 4. {(0,0), (1,1), (4,2), (1, 1)}
5. 6.
!- —

N

J..

Evaluate each function rule for x = 3.

9. f(x) = 2x — 15 10, f(x) = —x + 3
M. g() =3x—1 12 h(x) =-2x -1
13, h(x) = —0.1x + 2.1 14, gx) = —£+3
Evaluate each function rule for x = —%.

15, f(x) = 4x — 2 16. f(x) = —dr +1
17. g(x) = —|x| + 3 18. h(x) =x -3

Find the range of each function for the given domain.
19. f(x) = —3x + 1;[-2, ~1,0} 20. f(x) = ¥+ x — 2;{-2,0,1}
21. i(x) = —x%[-3, —1,1] 22. g(x) = —%ls| + 1{-2 -1

23. For a car traveling at a constant rate of 60 mi/h, the distance traveled is
a function of the time traveled.

a. Express this relation as a function.
b. Find the range of the function when the domain is {1, 5, 10].

€. What do the domain and range represent?
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Practice 5-3 Function Rules, Tables, and Graphs

Model each rule with a {able of values and a graph.

1. flx)=x+1 2. f(x) = x L flx)=3xr -2
4. f(x) =3z -2 5. flx) = 1x 6. f(x) =—%x +1
7. fx) =x*+ 1 8. flx) = —x*+2 9. f(x) =x -3

10. Suppose a van gets 22 mi/gal. The distance traveled D(g)} is a function of
the gallons of gas used.

a. Use the rule D{g) = 22g to make a table of values and
then a graph.

b. How far did the van travel if it used 10.5 gallons of gas?
€. Shouid the points of the graph be connected by a line? Explain.

11. The admission to a fairgrounds is $3.00 per vehicle plus $.50
per passenger. The total admission is a function of the number

of passengers.

a. Use the rule T{n) = 3 + 0.50n to make a table of values and
then a graph.

b. What is the admission for a car with six people in it?

€. Should the points of the graph be connected by a line? Explain.

Graph each function.

12. f(x) = 4x + 2 13. f(x) = | -2 14, f(x) = =3¢ + 7
15. f(g) = —|x| -1 16. f(x) =8 = 3x 17. f(x) =3x -7
18. f(x) = —%x +6 19. f(x) = 22 — 2x + 1 20. f(x) = —%x +3
21, y = —x2 + 1 22, y=9 —x? 23y =22 +x-2

Make a table of values for each graph.

24. Ry 25. N 26 AL A
J \[ 2] |/
2 2 3
+ gt 2
31, x =11, 2 bx )
/ - == ] ix
Z T
3 A 2
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Practice 5-4
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Write a function rule for each table.

1.

4.

5.

X 00) 2 [ x #x) 3
0 3 0 0
2 3 1 3
4 7 3 9
6 9 5 5

a. Write a function rule to calculate the cost of buying bananas at
$.39 a pound.

b. How much would it cost to buy 3.5 pounds of bananas?
To rent a cabin, a resort charges $50 pius $10 per person.

a. Write a function rule to calculate the total cost of renting
the cabin.

b. Use your rule to find the total cost for six people to stay in
the cabin.

Write a function rule for each table.

6.

10.

11.
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Pens are shipped to the office supply store in boxes of 12 each.

a. Write a function rule to calculate the total number of pens when you
know the number of boxes.

b. Calculate the total number of pens in 16 boxes.

a. Write a function rule to determine the change you would get from a
$20 bill when purchasing items that cost $1.25 each.

b. Calculate the change when five of these items are purchased.
¢. Can you purchase 17 of these items with a $20 bill?

You invest $209 to buy shirts and then sell them for $9.50 each.
a. Write a function rule to determine your profit.

b. Use your rule to find your profit after selling 24 shirts.

¢. How many shirts do you need to sell to get back your investment?

Writing a Function Rule

x #x) Iy f(x) B.
-4 -2 -3 9
-2 -1 0 0
6 3 1 1
8 4 5 25

X fx)
3 0
10 5
15 10
20 15
'

X f(x)
0 20
2 18
4 16

8 12
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Practice 5-5

Direct Variation
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Is each equation a direct variation? If it is, find the constant of variation.
3

1. y = 5x 2. Bx+2y =10 3.y=zx—7
5 3x—y=20 6.y=%x 7. ~3x+2y =10
9, 8x+ 4y =12 10, 6x— 3y =10 M. x -3y =6

The ordered pairs in each exercise are for the same direct variation. Find
each missing value.

13. (3,2) and (6, y) 14. (-2,8) and (1 12) 15. (4,y) and (16,12)
17. (3,y)and (9,15) 18. (2, y) and (10,15) 19. (4,3) and (x,6)
21. (% 2) and (6)  22. (25,5)and (x,9)  23. (48,5)and (24, y)
For the data in each table, tell whether y varies directly with x. If it does,
write an equation for the direct variation.

25, " v 26. x y 27. X
B -3 -2 4 3
14 3 2 5 4.5
10 20 9 6 1 13.5

29. Charles’s Law states that at constant pressure, the volume of a fixed
amount of gas varies directly with its temperature measured in degrees
Kelvin. A gas has a volume of 250 mL at 300° K.

a. Write an equation for the relationship between volume
and temperature.

b. What is the volume if the temperature increases to 420° K?

30. Your percent grade varies directly with the number of correct answers.
You got a grade of 80 when you had 20 correct answers.

a. Write an equation for the relationship between percent grade and
number of correct answers.

b. What would your percent grade be with 24 correct answers?

31. The amount of simple interest earned in a savings account varies
directly with the amount of money in the savings account. You have
$1000 in your savings account and earn $50 in simple interest. How
much interest would you earn if you had $1500 in your savings account?

12.

16.
20.
24,

28.

y=2x+3
-S5x+2y=9

9%+ 5y =0

(%, 8) and (6, -16)
(3, y) and (1.5, 6)

(9,3) and (x, -2)

x |y
-2 —2.8
3 4.2
8 11.2

Lesson 5-5 Practice
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Practéce 5-6 Describing Number Patterns

Find the common difference of each arithmetic sequence.

1. 10,16,22,28,. .. 2. 9,63,0,...
3. -12,-17,-22, =27, ... 4. —11,~8,-5,~2,...

5. 4,43.5,5%... 6. 75.7,646,...

7. 9,10.5,12,135,.. . 8. 1,-1.5,—4,—65,...

9. 89.1,10.2,11.3, ... 10. -9, -8.1,-7.2, -6.3, ...
11. —3,-06,18,42, ... 12. 62,45,28,11,...

Find the next two terms in each sequence.

13. 1,7,13,19,... 14. -8,~5,-2,1,...
—g — 1. 1.3_5
15. 1,-4,-9,-14,... 16. 5—5,—5,— 5.
17. 2.7,4,53,64,... 18. 9.8,0.7, -84, 175, ...
142541 13 1 53
19. 63, 4%,3,13,... 20. 25,5, -1, -2%,...

Find the fifih, tenth, and hundredth terms of each sequence.

21, 4,14,24,34, ... 22, 14,6, ~2, —10, ...
23, 3,10,17,24, ... 24. —19,~22,-25, -28, ...
25. L -1 = -2 26. —13,-03,07,1.7,...
27. 0,101,202,303,.. . 28. —1,—100, ~199, —298, . ..
29. 5,3.9,2.8,17,... 30. -3, 33, ~4, 41, ...

Determine whether each sequence is arithmetic, Justify your answer.

31. 0.5,03,0.1,-0.1,... 32, -1,1,-1,1,...
33. 3,6,12,24,... 34. 100, 81,64,49, ...
35. Renting a backhoe costs a flat fee of $65 plus an additional $35 per hour,

a. Write the first four terms of a sequence that represents the total cost
of renting the backhoe for 1,2, 3, and 4 hours.

b. What is the common difference?

C. What are the 5th, 24th, 48th, and 72nd terms in the sequence?
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REteaChing 5-1 Relating Graphs to Events
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OBJECTIVE: Interpreting and sketching graphs MATERIALS: None

from stories

When you draw a graph without actual data, the graph is called a sketch. A
sketch gives you an idea of what the graph will look like. Use the description
and the sketch to answer the questions.

Kira rides her bike to the park to meet a friend. When she arrives at Kira's Ride
the park, Kira and her friend sit on the bench and talk for a while. ) iras
Kira then rides her bike home at a slower pace. u _tallm}g
ot g with friend
1. What does the vertical scale show? §-=< ~——riding
It shows distance from home. é g ~— riding to home
n= meet her frien
2. Whal doef»: the horizontal scale show? 0 Tirme
Ii shows time.
3. Why is the section of the graph showing Kira riding to meet her friend
steeper than the section of the graph showing her ride home?
Kira was riding faster on her way to meet her friend.
4, Why is the section of the graph flat when Kira is talking to her friend? : )
Kira's distance from home is not changing, but time is still passing.
To take photographs of the area where you live for a school project, you <
ride your bike to the top of Lookout Knoll. The road leading to the top is w s
steep. When you arrive at the top, you rest and take some photographs. On é %
the way back down the same road, you stop to take photographs from = 8
another location. % k=g
= =
1. What does the vertical scale show? = J
2. What does the harizontal scale show? §
[u]
Q
3. Draw a sketch of the trip comparing the distance you traveled to time. 0 Time ;Jéj
Label the sections. =
@
4. Which parts of the graph represent your taking photographs? Explain. §
@
5. Which part of the graph is steeper, your ride to the top of Lookout
Knoll or your ride down? Explain.
6. Suppose the vertical axis represents distance from the base of Lookout
Knoll. With all ather information remaining the same, draw a sketch of
the trip comparing distance from the base of Lookout Knoll to time.
Label the sections. )

Il-II-'...I.IIII.'I.I........I.."I.I.....III.I.-'I.....l..ll."l‘...l.l..".
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ReteaChing 5-2 Relations and Functions

GBJECTIVE: Evaluating functions MATERIALS: None

A function is a relation that assigns exactly one value in the range to each
value in the domain. A function rule may be given as an equation. The
function f(x) = 3x + 5 will take a value x and change it into 3x + 5.The
function is read “f of x equals three x plus five,” not “f times x.” Evaluating a
function means finding a value in the range for a given value from the
domain.

Evaluate f(x) = 4x — 2forx = 0,1, and 2.

FO) =dx — 2
FO) = 4(0) — 2 F(1) = 4(1) - 2 f(2) = 4(2) — 2 ~<— Substitue each value for .
£(0) =0 -2 fa)y=4-2 ) =8-2 ~— Simplify.

f0) = -2 =2 f2) =6

‘Exercises.

Find the domain and range of each relation.

1' {(_4’ 3)1 (_21 _1)1 (Or 0)1 (11 4)1 (21 6)} 2' {(—67 _4)1 (_31 —1)1 (13 2)e (2’ 4)! (3’ 7)}
Determine whether each relation is a function.

3. {(-1,2),(0,3), (4,3), (0, 5)) 4.

Evaluate each function rule for x = -2,
5 f(x) = 4x 6. f(x)=-3x
7. flx)=x-2 8 fix)=-2x+1
9. fx)=dr+2 10. f(x)=~2x+2
Find the range of eack function, given the domain.
11. g(m) = m2 {~2.0,2} 12, hx) = =3¢ — 1;(-3,0,6)
13. A(n) =3 = 2n + 2;|-1,0,1) 14. g(n) = m* + n - 2;{~2,0,2)
15. g(x) = |x| + 2; [~4,-2,4] 16. flx) = —2|x| — 1;{-3,-2,3]

Algebra 1 Chapter 5 Lesson 5-2 Reteaching
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ReteaChing 5-3 Function Rules, Tables, and Graphs
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OBJECTIVE: Graphing a function MATERIALS: Graph paper

You can use a rule to model a function with a table and a graph.

Graph the function y = 2x + 3.

Step 1: Choose four diiferent vatues for x. Write these values in the first
column of the table. Choose some negative values for x.

Step 2: Evaluale the function to find y for each value of x.

X y=2x+3 {x, y)

2| y=2A-2+3=-1 |(-2,-1)

-1 y=2(-1)+3=1 (—1,1)
3] y=203)+3=9 (3, 9)
5 y=72(5) +3=13 (5,13)

Step 3: Plot the ordered pairs to graph the data.

w2
2 /
[ Ta) A o
o o
s g
ra A @
4 B
£lo x =
—d a4 g
/l | <
£
| Exercises] :
i
&
Use a table to graph each function. Choose an appropriate number of values g
for x. Choose some negative values for x. a
&)
1. y=4x +1 2. y=x—-2
3. y=x+5 4, y=|x] -3
5 y=x>—4 6. y=3x+3
7. y=—|x| +3 8. y=—x*+4 , )

I.I'IIl‘-lll'...ll."ll.'-l.l‘..II'.I-..IIIII-I...--..l..lIIIII.I..ll‘.I.Ill.
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Reteaching 5-4
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Date

Writing a Function Rule

OBJECTIVE: Writing rules for functions from

MATERIALS: None

tables and words

You can write a rule for a function by analyzing a table of values. Look for
a pattern in the data table. For each row, ask yourself, “What can I do to the
first number to get the second number?” Write the patterns. Circle the
pattern that works for all of the data in the table. This is the rule for the

function.

-~ or multiply by 3.

~— (Add 2Dor multiply by 2.

— @3

The function rule must be f{x) equals x plus 2. The statement can be written
as f(x) =x+ 2,

Analyze each table and then write the function rule.

1.

X I 2 M #x) 3
0 0 0 -1
1 3 1 0
2 6 2 1
3 9 3 2

Write a function rule for each situation.

1

Afgebra 1 Chapter 5 Lesson 5-4 Reteaching

4. the length £(w) of a box that is two more than four times the width w.

5.

© @ N oo

0.

the width w(£) of a sheet of plywood that is one half the length £.
the cost c(a) of a pounds of apples at $.99 per pound
the distance d(¢) traveled at 65 miles per hour in ¢ hours

the value v(q) of a pile of g quarters

a worker’s earnings e(n2) for n hours of work when the worker's hourly
wage is $8.25

the distance f{d) traveled in feet when you know the distance 4 in yards

X f(x)
0 0

-1 1
3 9
3 25
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Reteaching 5-5

Direct Variation

OBIJECTIVE: Using constant of variation to solve MATERIALS: Graph paper and a straight piece of
problems wire or pipe cleaner

Is the equation of the line joining the points (2, 3) and (4, 6) a direct
variation? If it is, find the constant of variation.

~— Graph the two points. Place the wire

-1 (
7 / on the graph so that it passes through
‘E / the two points given.
TS
3 74
oA
E x
SV EERE;
) T

a. [s the graph a straight line passing through the origin? Yes, it is.

b. Is the equation of this line a direct variation? Yes, since the line passes
through the origin.

c. What is the constant of variation?

y = kx ~— Write the general form of a direct variation.
3= k(2) ~—Substitute the coordinates of either point.
k= % ~— Solve for k.

The constant of variation is %

Work with a partner. Draw axes and label them and the origin on your graph
paper. One partner places the wire on the graph so that it passes through the
two points given. The other partner answers the questions. Exchange roles
for each exercise.

Is the equation of the line joining each pair of points a direct variation?
If it is a direct variation, what is the constant of variation?

© Pearson Education, Inc. All rights resarved.

1. (-1,3),(1,-3) 2. (0,3),(~1,1) 3. (1,-2), (4, —8)
4. (5,5),(-5,-5) 5. (2.4), (1,2) 6. (2,3),(3,5)

Algebra 1 Chapter 5
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ReteaChing 5-6 Describing Number Patterns

OBJECTIVE: Finding the common difference and MATERIALS: None
writing the next several terms in a sequence

When trying to determine the common difference of an arithmetic sequence
or find the pattern, it is helpful to attempt to express each term in the
sequence as an expression involving the same number.

Find the common difference of the sequence: 4,7, 10, 13, . ..

Let n = the term number in the sequence.
Let A(n) = the value of the nth term of the sequence.

A(l) = 4
A(2) =7 =4+ 1(3) =— 3 is the common difference.
AQ)=10=4+ 6 =4 + 2(3) ~—- Notice that the 3 in each expression is multiplied by a number

one less than the term number.

A4y =13 =4+ 9 =4 +3(3)

An) =4 +3 +3+...+3=44(n—~1)3
L
n — 1 terms

The formula for the sequence is A(n) = 4 + (n — 1)3.

You could use the formula for the sequence to determine the next several
terms simply by substituting a specific term in for n. For example:

Term:

- A(8) =44+ (5-1)3 A(100) = 4 + (100 — 1)3
ht Oth t

5th term A(5) = 16 100th term A(100) = 301

Find the commeon difference of each sequence.

1. 2,9,16,23,... 2. 5,1,-3,-7,... 3. —52,-41,-30, ~19,...

Find the next two terms in each sequence.

4. 2,0,-2,—-4,... 5. —4,-1,2,5,... 6. —17,-22,-27,-32,...
Find a formula for the sequence in the exercise indicated and use it to
determine the fifth and tenth terms of the sequence.

7. Exercise 1 8. Exercise 2 9. Exercise 3

Algebra 1 Chapter 5 Lesson 5-6 Reteaching
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Enrichment 5-1
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Interpreting Graphs

For each of the given graphs, describe a situation the graph could represent.
Be sure to include what units would be used on each axis. For Exercises 6-8,

include axis labels.

1. 2.

el

'E /\ .‘g

g o

= =

=

Time Time

3 4, \

wn E

4 Ry

= £

Time : Time

5 J 0. )

o .

[21]

=

[=]

= /

Time

7 8.

-

.ll'........lI.'.-..I.lII'I.I..-.ll....'l....ll.l"'..'..l'.ll'll..lll'....-.
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Height
- Above Ground

Chapter 5 Answers
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Practice 5-1
1 The student is traveling at a constanl speed.

Trip to School

e,

Time

Speed

3. The distance from home is not changing.
4, The distance from home decreases.
3. The distance from home increases.

6. Mountain Hike

Elevation
=
W j

2
Time
Answers may vary. Sample: [n section 0 to 1 the hiker is
ascending. In section 1 to 2, the hiker's elevation is constant. [n
section 2 to 3, the hiker is descending.

7 Trip to School

Speed

3
T

0 1

-

3

5 IASI
L 4

Aunswers may vary. Sample: In section 0 te 1, speed is increas-
ing. In section 1 to 2, speed is constant. In section 2 to 3, speed
is decreasing,

8.
Plane Trip

Time

Answers may vary. Sample: Where the graph is increasing, the
height above the ground is increasing. Where the graph is flat,
the height is not changing, Where the graph is decreasing, the
height above the pround is decreasing.

9 Trip to Store

Speed

Answers may vary. Sample: In sections 0to 1,3 to 4, and 6 to 7,
the speed is increasing. In sections 2 to 3,5 to 6, and 8 to 9, the
speed is decreasing, in sections 1 to 2,4 to 5, and 7 to 8, the
speed is constant. At (, 3, 6, and 9, the car is not moving.

10. Speed vs. Time
o
oy
v
0 Time
11. Speed vs. Time

Speed

AVA

0 Time
12. Speed vs. Time
o
8 /e\
[mW
78]
0 Time
Practice 5-2
1.d =1]-3-10,24;r = [-7,—-3,-13,7]

2.d =1{-35-4,0,1,2];r = [—4,—2,2,3,4] 3. yes
4.00 5.yes 6.no 7Z.yes 8.no 9.-9 10.0 11.1
12.-2 13.18 14.1 15. -4 16.1325 17.25 18. -1

19.[1,4,7) 20.(-2,0) 21.[-9,—1]
22, { 0.4+ 23a. d(r) =60t 23b. {60,300, 600}

23c. domain is time and range is distance traveled
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Chapter 5 Answers (continued)

Practice 5-3

For Exercises 1-11, answers may vary. Sample:

7% f(x)
-1 0
0 1
1 2
2 3
[ & (x) R
-2 -4 /p/h(:
1 ) =Y
0 0 /ﬂ
: A ir
1% | f) ¥L3)
L ; /JL
0 -2 ¥
1 it
2 4 3/
{
[ x f(x) ¥
0 -2 & /
T /
; AT
[ x| fw) R (I
-2 -1 H A
0 ] TT/’;OL P B
2
4 2

S x T fv JIE)
-3 3 \\IQ -
0 1 . e M 6
S|
6 -3
% | #w ’r\ NYil3) I{
g SERS.
-1 2 5
0 1 1/
i 2 5
2 3 0 X
—5—p—1 3
8. x ) )
-3 -2 ;s 0 p
0 2 =7 , JAVEE]
| e
3 -7 15 \
4 \
2 g f(x) 40 ll,-r
-3 —~6 20 T
0 -3 -2, /'(4 il
3 0 ] ’3(
6 )/”
106a. g d(g) » /
0 0 hol A
1 22 : g
—3—3-] )
2 44
30/ 57

10b. 231 mi 10c. Yes, g is continuous but it only makes
sense for positive values,
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Chapter 5 Answers (continued)

B A NE RS FREAARE N NN E TN TR R RSN AN E NSNS N RN ESANCEE NN PRSI AEA RO SRR RS

11a. ﬂ T(n) : T i 18. s (3, 19. \“, lf
1 3.50 ;r P N
2 4.00 5 N X
4.50 : e . =2
3 . T N
o 1 ! BN A N 2
4 5.00 |
11b. $6.00 11c. No;n is a discrete variable, 20. i3
12. - BT R 5
M %
A 2 3
2f x 2
5 =2 OV ] t O X
5 —2—1,] 1] 4 5 6
ol Iz : 3n
=21 1
9 Fany
14. \f(t) 15. iy r I,- \
6) 2 X MR
A\ - —3 /0] N2 2\
A ) x| T AN A o U=
“[o) | x —2 [0 T2 T? W2\
—h=2 | 3\4 / w ”
Z i
53 \ G
. \ V
L8] \ (2]
o * 23 \y‘
VL
16. 1? f() \ Z
:;‘19 \ X
-3 \O| /] 2
6 NS 17
4 \‘ '4’ 7
e X _
ENEREY: For Exercises 24 - 26, answers may vary. Sample:
= 24, 25.
l X y b's 3%
17. - f(\f) 0 -1 0 2
‘o P L 1 1| -1
— L6 L Tinx » 3 9 —4
s -
;(}/ 26. X vy
2 -2 2
-1 0
0 0
1 2
Answers Algebra 1 Chapter 5 m




Chapter 5 Answers (continued)
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Practice 5-4

1L.fx) =x+3 2.f(x) =3x 3.f(x) =x -5
4a.C{p) = 0.39p 4b.$1.37 5a. C(n) = 50 + 10n
5b.$110 6. f(x) = x 7.f(x) = 2 8.f(x) = 20 — x
9a. N(b) = 12b 9b.192 pens 10a.C(n) = 20 — 1.25n
10b. 1375 10c.no 11a. P(r) = 9.50a — 209

11b. $19.00 11c. 22 shirts

Practice 5-5
1.ves;5 2.yes;—4 3.no dono 5.yes3 G.yes;%

7.yes;% 8.no 9.n0 10.yes;2 1t no 12. yes;——%
13.4 14.-3 15.3 16.-3 172.5 18.3 19. -8
20.12 21. 27 22.45 23,235 24. -6 25.yes,y=12x
26.yes y = Fx 27.n0 28.yes;y = Ld4x 29a.V = ET
29b.350 mL. 30a.g = 4c 30b.96 31.$75

Practice 5-6

1.6 2.3 3.-5 4.3 5.1 6.—% 7.15 8.-25
9.1.1 10.09 11.24 12.~1.7 13.25,31 14.4,7

15, —19, —24 1. —%, ,..% 17.7.9,92 18. —26.6, —35.7

19. - -2 20. -4l —6% 21. 44,94, 994

22. 18, 58, ~778 “23.31,66,606 24. —31, —46, —316
25. ~5 —LL 187 26.27,77,977 27. 404,509, 9999
28. —397, ~§92, —0802 29.0.6, —4.9, —103.9

30. -4%, HS%, —28% 31. yes; common diff. = (1.2
32.no 33.no 34.no 35a. §100, $135, $170, $205
35b. $35 35c. $240, $905, §1743, $2585

Reteaching 5-1
1. It shows total distance traveled. 2. It shows elapsed time.
3.

Photo Trip

downhill —,
51
g downhill /T
& |uphill y_ taking
= N
= photos
[_|
0 Time

4. The fat part of the graph. When you are taking pictures,
you are not moving. 5. The ride down Lookout Knoll. When
you ride down, you pa faster and cover the distance in a
shorter amount of time,

6. Photo Trip
z
e
E .
£ ) downhill
o uphﬂl\ ] yd
u -
g taking
A photos
0 Time

Reteaching 5-2

1.d = [—4,-2,0,1,2}; r = {—1,0,3,4,6)

2.d = {-6,-3,1,2,3): r = {—4,-1,2,4,7) 3.10
4.yes 5. -8 6.6 7.—4 8.5 9.1 10.5 11.{0,4]
12.[-3,0,-1) 13.(2,3,7] 14.{-2,0,4] 15.{4,6]
16. [~7, =53]

Reteaching 5-3
1.

Y 2. y
X x
) _-- ¢ —P O 2 i
i/ .
FA ==
3 y 4 jy
2 < y |0 b ;
X -
-4 -2 |O
5. \ v | 6.
L1
\ / /
-A O X ) -2 O X
_ﬂ l_'\
4 4
L J

m.....l..-....l.....Il.I.l.....l...llll..lll..'..I.'l...-....-.....l....IIIIII

Algebra 7 Chapter 5

Answers

© Pearson Education, Inc. All rights reserved.




© Pearson Education, Inc. All rights reserved,

Chapter 5 Answers (continued)

7. " 8.

NS

MJ
[P

L&
Fx

| o]

Reteaching 5-4
Tfx) =3 2.f(x) =x -1 3.f(x) = »?

4.t(w) = 4w + 2 5.w(t) = 10 6.c(a) = 0.9%
7.d(1) = 65t B.v(g) = 025¢ 9.e(n) =825~ M. fld) = 3d

Reteaching 5-5
T.yes; =3 2.no 3.yes;—2 4.yes;1 5.yes;2 6.no

Reteaching 5-6

1.7 2.—4 3.11 4.-6,-8 5.8,11

6. —37,—42 7. A(n) = 2 + T(n — 1);30;65
B.A(n) =5 —4n - 1);,-11;-31

9. A(n) = =52 + 11(n — 1); =8;47

Enrichment 5-1

1-8. Answers will vary. Samples;

1. the temperature during the day 2. a car accelerating, going
at a constant speed, decelerating, and then continuing at a con-
stant speed 3. amount of an element undergoing decay

4. height of a growing child over the year 5. amount of money
in an investment account compounded 6. height of a person
when riding a ferris whee| 7. the closing prices of the stock
market 8. the rate of postage to mail letters by the ounce

Enrichment 5-2
1.03,0.65,0.1,0.5; (30, 0.3), (65,0.65), (18, 0.1), (50, 0.5)}

2. yes; T 1y Py

v

Fa W, |
g.5

hy |
.z

R

1oy [ Hldls
3. f(x) = 355 4.0.1506;18 5.002504;36
6.04503;01 7.5510;22

X
0

8. yes; [
! lafal y
juiv}
- An
S T'e @
|
]
[~ 20 &
@
X
0 21 4 G
Hour

9. no, 6% is paired to two different values. 10. yes; each first
element is paired only once.

Enrichment 5-3

1. \y‘ 2. y{
1 1]
—7 -7 |O y
2 -2
iR} 4
3 vl 4 y
X - X
-7 -7 (O 2
2 =2
i
3 v 14 6 y
2 ’ s
|
X X
-7 : -2 |0 y
I/ ,
2 Z
7 ky” 8 \y
X b
.—.'_ p -2 0 A
& A =2
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